
JBA 2025 – Content Check 4 

 

Name:________________________________________________________ Score:__________ 

 

Multiple choice questions are worth two points each. 

 

1. Constitutional isomers are compounds that have 

a. the same chemical formulas and molecular structures but 

different physical properties. 

b. the same chemical formulas but different molecular structures 

and physical properties. 

c. different chemical formulas and molecular structures but the 

same physical properties. 

d. the same chemical formulas, molecular structures and physical 

properties. 

 

 

Answer ___b____ 

 

2. Amino acids are compounds that contain both amine and carboxylic acid groups. Which 

compound is an amino acid? is: 

a.     c.  

 

b.     d.  

 

 

 

 

 

Answer __d____ 

 

3. Which of these classes of compounds form most of the membranes for your cells? 

a. carbohydrates 

b. lipids (or fats) 

c. amino acids 

d. nucleic acids. 

 

 

Answer ___b____ 

 

4. What key role do carbohydrates serve in the body? 

a. They form cell walls 

b. They encode genetic information 

c. They are sources of energy 

d. They serve no role in the body. 

 

 

Answer ___c____ 

 

  



Please write legibly!  If I can’t read it, I can’t grade it! 

 

5. Match the term with its definition. (4 points) 

__B__stereoisomers 
A. a compound with substituents on the same side of a double 

bond 

__F__chiral carbon 
B. compounds that have the same chemical formula and 

bonding but different arrangement in space 

__C__saturated fat 
C. a water insoluble compound with no carbon-carbon multiple 

bonds 

__D__trans- 
D. a compound with substituents on the opposite sides of a 

double bond 

 
E. a reactive species with one unpaired electron 

 
F. an atom bonded to 4 different groups 

 

6. Identify the functional group shown in each structure: (4 points) 

 

__E__ 

 

__A__ 
 

 A. 

B. 

C. 

ether 

ketone 

ester 

__C__ 

 

__B__ 

 

 D. 

E. 

F. 

 

carboxylic acid 

amide 

amine 

 

7. Complete the table for the alkanes below. (6 points) 

Structure  

(Line angle or Lewis structures are acceptable) 
Name 

 

4-ethyl-6-methyl nonane 

 

2,4,4-trimethyhexane 

 

  

CH3
NH

C
CH3

O

CH3

O
CH3

CH3
O

C
CH3

O

CH3

C
CH3

O



Please write legibly!  If I can’t read it, I can’t grade it! 

8. Alcohols and carboxylic acids react to form esters by the process shown below.   

C

O

OHR + OH R' C

O

OR R' + OH2
 

a. Complete the reaction of salicylic acid with methanol to form methyl salicylate (oil of 

wintergreen). (3 points) 
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b. Complete the reaction of salicylic acid with acetic acid to form acetylsalicylic acid 

(aspirin). (3 points) 
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9. Complete the following table (6 points) 

Line angle Lewis Structure showing all atoms 
Molecular 

Formula 

HO

O  
 

C5H10O2 

HO

 

 

C5H8O 

10. Compounds that can serve as monomers for polymerization reactions must have one key 

property for polymer chains to grow.  What property is this?  Show how this property 

appears in both addition OR condensation polymerization. (6 points) 

 

Monomers must be able to react in two locations in order for the polymer to continue to 

grow.  For addition polymerization, the alkene produces a di-radical that can react in two 

locations and continue to grow.  For condensation polymerization, the monomers must have 

two functional groups that can react independently.  (Example structures would be useful 

here.) 

   



Please write legibly!  If I can’t read it, I can’t grade it! 

 

 


